. NASTROJE PRO HREBY
INSTRUMENTS FOR NAILS

MEDIN

397 139090660 Set na extrakci hieb(l
540 % 240 X 90 mm
vCetné ndstrojii

Set for nail extraction
540 x 240 X 90 mm
including instruments

8

397 129 69 7855
1 39712969 1590
2 397129691610
3 397129695131
4 397 12969 5231
5 397129695251
6 397129695273
7 397129696050
8 397129696060
9 397129696100
10 397 129697820
11 397129697830
12 397 129 69 7840
13 397129991012
14 397148510100

15 P3400351

16 P3403565

14
soubor

Kli¢

Tyc¢ vytahovaci 350 mm

Drzadlo

Sroubovak $estihran 2,5x160 mm
Sroubovak $estihran 3,5x160 mm
Sroubovék Sestihran 5x160 mm
Osa kladiva

Kladivo 400 g

Ty¢ dotahovaci

Pfechodka M6_M8 mm
Vytahova¢ M6_M8 mm

Ty¢ vytloukaci

Vytahovac zlomenych hiebi

Exkavator oboustranny 1,5 mm; 17,0 cm

Z&vazi 1000 g
Drzadlo

9

set

T-Wrench

Extraction bar 350 mm

Screwdriver handle

Screwdriver hexagonal 2.5x160 mm
Screwdriver hexagonal 3.5x160 mm
Screwdriver hexagonal 5x160 mm
Mallet axis

Mallet 400 g

Wrench rod

Connecting piece M6_M8 mm
Extractor M6_M8 mm

Punching rod

Extractor of broken cannulated nails

Excavator double-faced 1.5 mm; 17.0 cm

Weight 1000 g
Handle

ks/pcs

RN NI NG [ N R NG T NG T NG SN

397 12969 7850  Sito nainstrumentdrium na extrakci hiebl  Sieve for instruments for nail extraction
540 x 240 x 90 mm 540 x 240 x 90 mm
bez ndstrojii excluding instruments

NASTROJE A IMPLANTATY PRO TRAUMATOLOGII / INSTRUMENTS AND IMPLANTS FOR TRAUMATOLOGY E.11.1



397 139 09 0650

Set na extrakci Sroubt
540 x 240 X 50 mm
vCetné ndstroju

NASTROJE PRO HREBY
INSTRUMENTS FOR NAILS

Set for screw extraction

540 x 240 x 50 mm
including instruments

]
MEDIN

29
| | | |
| | ) J J
11 12 13 14 15 16 17 18 19 20 21 22 23 24 25 26 28 27 32
397 12969 7795 soubor set
ks/pcs ks/pcs
1 397129698260 \Vrtdk2,1x49 mm Drill 2.1x49 mm 2 19 397129698181 \Vytahovac 2 Extractor 2 2
2 397129698270 \Vrtak 2,5x57 mm Drill 2.5x57 mm 2 20 397129697711 Vytahovac 2,5 Extractor 2.5 2
3 397129697740 \Vrtak 2,8x61 mm Drill 2.8x61 mm 2 21 397129697721 Vytahovac 3,5 Extractor 3.5 2
4 397129697750 Vrtik 3,6x70 mm Drill 3.6x70 mm 2 22 397129697731 \Vytahovac5 Extractor 5 2
5 397129698290 \Vrtak4,1x75mm Drill 4.1x75 mm 2 23 397 129697910 Bit sestihran 2mm Bit, hexagon 2 mm 2
6 397129697770 Vrtak 5,1x86 mm Drill 5.1x86 mm 2 24 397129695231 Sroubovék Sestihr. 2,5 mm  Screwdriver, hexagon 2.5 mm 2
7 397 129698220 Frézavalcova 2/2,4/2,7 Cylindrical cutter 2/2.4/2.7 1 25 397129695251 Sroubovék Sestihr. 3,5 mm  Screwdriver, hexagon 3.5 mm 2
8 397129794600 Frézavalcova 3,5/4 Cylindrical cutter 3.5/4 1 26 397 129695273 Sroubovék sestihr. 5mm  Screwdriver, hexagon 5mm 2
9 397129794610 Frézavalcova4,5/5 Cylindrical cutter 4.5/5 1 27 397128090140 Dlato ortopedické Orthopedic gouge 6 mm;
10 397 129794620 Frézavélcova 6,5/7 Cylindrical cutter 6.5/7 1 Zlabkové 6 mm;23,5cm  23.5cm 1
11 397 129698230 Fréza 2/2,4/2,7 Cutter 2/2.4/2.7 1 28 397 148 510100 Exkavator oboustranny Excavator double-sided 1
12 397129794570 Fréza3,5/4 Cutter 3.5/4 1 29 397 129697800 Vytahovac Sroubl Screw extractor 1
13 397129794580 Fréza4,5/5 Cutter 4.5/5 1 30 397129698350 Klesté na vytahovani Forceps for removing screws
14 397 129794590 Fréza6,5/7 Cutter 6.5/7 1 sroubl 1
15 397 129698210 \ytahovac 2/2,4/2,7 Extractor 2/2.4/2.7 1 31 397 129698360 Klesté na vytahovani Forceps for removing screws
16 397 12979 4540 \Vytahovac 3,5/4 Extractor 3.5/4 1 sroubli 2/2,4/2,7 mm 2/24/2.7 mm 1
17 397 129794550 Vytahovac4,5/5 Extractor 4.5/5 1 32 BD23-110-A0 Drzadlo AO; 30x151 mm  Handle AOQ; 30x151 mm 1
18 397 129794560 Vytahovac6,5/7 Extractor 6.5/7 1 33 BT19-095-A0 DrzadloT AQ; 95x81 mm  T-handle AO; 9581 mm 1
397 12969 7790 Sito na instrumentarium na extrakci Sroubd  Sieve for instruments for screw extraction

540 % 240 x 50 mm
bez ndstrojii

540 x 240 X 50 mm
excluding instruments

NASTROJE A IMPLANTATY PRO TRAUMATOLOGII / INSTRUMENTS AND IMPLANTS FOR TRAUMATOLOGY



